BUSABFFEI)—T

9A6H(R) WMAR—Y o 4—T=Za—F

NO, 1 = [ ES B2
1 3235 INEFIE 2 F45—TC 12| 15/ 0800 | 1
2 3303 J\ &Ml SSTC 7/ 19| 0.368 3
3 3435 < HH Rk VARG RIS 7| 18/ 0389 | 2
4

No, 2 TOvy [ ES NIE s
5 3180 1R ERHLE wifsa—oTC 10| 17| 0588 2
6 1888 A HITE SSTC 1] 13| 0.077 3
7 1618 & FF]th ITSRLR 12| 16| 0.750 1
8

No, 3 TOwvy [ ES NIE s
9 1339 fTHEE F45—TC 12| 17| 0.706 1
10 3619 [A[BIE— SSTC 9| 21| 0429 3
11 3675 IREF R F] ITSRILR 7| 18] 0.389 2
12
No, 4 Jayo fg JIE 52
13 6424 X H— iifiza—>TC 12| 14| 0.857 1
14 4502 ympE L FA4—0—> 7| 15| 0467 2
15 2080 KEEEB wifigy—>TC 3| 15| 0.200 3
16

NOo, 5  TOvy fg JIE 52
17 3507 Z= FH 1F 48t iifiza—>TC 9| 18| 0.500 2
18 491 FEEATEE +45—TC 12| 18| 0.667 1
19 3168 Fzk FH 445t SSTCATC 6| 18] 0.333 3
20
No, 6  20O0vs B == Bz
21 6416 JTEEFE s =7 10| 22| 0.455 3
22 3543 BEAR ZE B FA5—a— 722957 11| 22/ 0500 | 2
23 4484 1L EEEX SSTC 12| 22| 0545 1
24
No, 7 ZOvs [ ES NE 5L
25 3497 EERIEER FAB—O—2FZ2H5T 12| 19| 0.632 1
26 3530 EE RIS SSTC 11| 19| 0579 2
27 4503 SEHIUEZ LARHDRIWT 4| 16| 0.250 3
28
No, 8 ZOvo [ ES NE 5L
29 2877 EBEERE EITCL R RILF 6| 18| 0.333 3
30 3572 R [if] JL 48t F445—TC 10| 19| 0.526 2
31 3550 FCEHFE SSTCEIWTC 12| 19| 0632 1
32
No, 9 ZOovo 35 fs B [ ES g5z
33 4522 12548 RESFERICTSALK 2| 0| 12| 14/ 0857 | 1
34 3544 )| FEER{Z +44—TCSSTC 1)1 8| 19| 0.421 2
35 3346 [LJI|%N2 ITSALR 0| 2 5 17| 0.294 3




BOSRABFREN—F AR

NO,1
@ 7'NO,1-14L

NO,2

NO,3
7'NO,9-24i

NO,4
7'NO,8-2{i

NO,5

NO,6

®® 7'NO5-14iL
NO,7

@@ 7'NO4-1£1
NO.8
NO.,9
7'NO,7-2{i
NO,10
7'NO,3-2{i
NO,11
7'NO,2-2{i
NO,12

®® 7'NO6- 11
NO,13

®® 7'NO,7-14i
NO,14

7'NO 5-2{i1

NO,15
7°NO,1-2{i1

NO,16
7'NO 4-2£

NO,17

NO,18
®@ 7'NO3-14i

NO,19

®® 7'NO8-1{i
NO,20

NO,21
7'NO,9-14i

NO,22
7'NO,6-24i

NO,23

NO,24
@ 7'NO2-14&

9A6H(R) IUEHAR—YEL 2—T=ZXI3—}

1R 2R 3R SF F
3235 /NFF{E 2 FA4%—TC
INEP
3303 BYE o
3544 1| FGER{Z +44—TCSSTC
3572 = [ifl] gL 4t +42—TC @ Eié?
3180 BYE
a1 FEMTERE  Fa4—TC o2
6424 NHMBE— wfzo—>TC ® jZiE
AH
1339 BYE S
3530 P&k i SSTC
. o AH
?|:|:|_ Q
3675 IREFE T ITSRN)LX ® STRED
3180 fRERHLE ILfzO0—>TC © 1&;2%
4484 1LEEEEN SSTC ® ﬁf & B
3497 ERKZERA FAS—O—2TF=RH5T @%
ik
2 e Z0—>
3507 Z= FH IE A win—>TC 10(RET)
z=
3435 ZANHEHFIHE LS Z L 0) a::a
4502 SRl FAE2—0—> ® 'r'gﬂ
3507 BYE
== _ oL
1339 THEZE F4%—TC o
—p M H
3550 TECEHZE 1Y SSTCLEIUTC @® O (RET)
4484 BYE ©) E;,EE
4592 izEE;’%jle RZAFERKCITS ALK
= —a—yF=255 RE
48 BIRER] oo 777 W oReD
4484 BYE
1618 £ FFth ITSRJILK ) EEZZE

_BS_




